Year 3 Calculation Methods
Year 3 Maths builds on prior knowledge from year 2, securing understanding of numbers up to 1000.
We use a variety of calculation methods in Year 3, which are illustrated below:
Addition
533 + 22
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       Place Value Board & Counters                Part-Part-Whole Model      
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               Bar Model                       Column Method                       

Subtraction
713 -427 =                                                                     85 – 22 = 63
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                    Arrays                                      Repeated Addition
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                  Grid Method                                         Column Method


Division
24 [image: ] 6
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          Division by Repeated Subtraction			    Bus Stop Division
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In the Tens column, 2-6 cannot be done.

Therefore, a hundred is exchanged for 10 tens
and added to the Tens columi

There are no longer 5 Hundreds, due to this

exchange taking place (only 4 are left).
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6+6+6+6+6=30
5+5+5+5+5+5=30
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How many lots of 6 did we take away? 4
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78+ 6= 1 3
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1x6=6
1remainder left over 3 x 6 = 18
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In the Tens column, 5+6 results in a 2-digit
answer (11 tens). The first of these digits is
worth 100 and is therefore added to the
Hundreds column.
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